TSD v1.1
// Defines

/////////////////////////////////////////////////////

Defines: Slippage(5);


// Slippage

Defines: StopYear(2005);

Defines: MM(0),Leverage(1),AcctSize(10000);

Q&A: why do you want to stop after 2005?

Does AcctSize (10000) need to be actual acct size?
Xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
--------------------------------------------------------------------------------
// Variables

/////////////////////////////////////////////////////

var: PriceOpen(0);




// Price Open

var: I(0);





// Misc Counter

Q&A: Why is this different? Why is there space in v.1 between PriceOpen(0); ………..here……..//Price Open

Xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
//  Initialisation

/////////////////////////////////////////////////

if year < stopyear then exit;

If Curtime - LastTradeTime < 10 then Exit;

If FreeMargin < 500 then Exit; 

Q&A: why is FreeMargin used in v.1 & not in v.2?

TSD v1.2
// Defines

/////////////////////////////////////////////////////

Defines: Slippage(5);


// Slippage

Defines: WilliamsP(24),WilliamsL(-75),WilliamsH(-25);

Defines: MM(0),Leverage(1),MarginChoke(500);

Q&A: what does MarginChoke (500) mean/do?
Xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx

-------------------------------------------------------------------------------
// Variables

/////////////////////////////////////////////////////

var: PriceOpen(0),Buy_Tp(0),Sell_Tp(0);









var: I(0),WilliamsBuy(0), WilliamsSell(0);

xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx

//  Initialisation

/////////////////////////////////////////////////

If Curtime - LastTradeTime < 10 then Exit;

